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This is your Get: if I die; from this sickness; after I die

OVERVIEW

The X3 cites a mwn which states three cases where a vi is ineffective; where the
husband either said, this is your va: if I die, or [if I die] from this sickness, or (it
should become effective) after my death. m9o1n discusses the structure and the
need for this 7wn.

mooin discusses the structure of the mawn:!
= 119997 28NPYV NN NN INNY

The reason why all these three 70 are invalid is because the husband made them
take effect after death, and there is no n°»n 2nxY V1.

n19oIN finds a similar situation:
= 510N XYY 51P9MY XD 4PPD9I9DION NDY 20NN 9195

Just like the Xn» 2 which states that the word an® (regarding the separating of

7217n) excludes; but not guardians, but not partners, but not sharecroppers -
= (8,33 9702 YTV IRV NN OINN J9 N9

but not one who separates 7190 for crops which are not his; in all these cases the

700 is invalid, there too the reason the 7170 is invalid -
=9V 1ORY NN DN DIYN MM 19T

In all those cases is because they are all considered as one who is 29\ crops
which are not his —

! Seemingly once the mwn taught the first two cases of *nn oX and 71 *21n (where it is possible to interpret his
intention that it should be w2y 7n) that it is not a v3 (presumably because 0 X2 V3 PR), then certainly >Mn NR?
(where he stated explicitly that it should be effective only 70> 2nx?) it is surely not a v3; why mention the last case
of N INKG.
2 anom TnRY is not merely a third case, but rather it explains why it is not a b3 in the previous two cases.
3 The 7Mn writes (in 12, [772] 12712) in regards to the separation of [Mwyn] N0 by the o> that @nR 23 >N 12
7 nmn. The word ank (you, who are the owners) is understood to exclude, from separating 7170, anyone who is
not the owner;
4 An D191VBR is one who is appointed as a guardian to manage the estates of minors. However he does not own any
of their assets and cannot be a0 for them.
3 A partner cannot be on the share of his (other) partner, only his own share.
¢ A sharecropper does not own the crops; he merely receives his share after they are harvested. He cannot be 2™ on
behalf of the landowner.
7 There is the same issue in the cited Xn»12. Once we know that 121 72mw POOIVIBR cannot be aMn (even though
they have somewhat of an interest in the crops), then certainly a YW 2Xw 00 (who has no interest at all in the
crops) cannot make it 17n; why mention the case of 2w 11°®w 0Mnn. See *"'wA there onk 7"7.
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Moo asks
= TO90NN INNIN N9 NIYN NINN 9NN ON)

And if you will say; and why is that 7awn (of 121 °nn oX 03 1"°77) necessary to

teach us that 70 TIKR? VI PX -
= 15 ANNRY V) PRT (w1, 97 PVINT NP P92 XYTH2 3N NN

Since we already learnt a 71w» in the first pap of 7w ndon, which states

explicitly that 0o 8% w3 PR -
= 1IN INNRY 1IN XY INYNRD AT V) 1IN MIND )INT

For the 11w in v states, ‘one who says, ‘give this 3 to my wife’, they should
not give it to her after his death’. The reason is because an°» MR v PX; why is it
repeated in this mwn cited here? —

mooIn responds:
221UY9 (0 Ynnnn 137 owv) 12007 NNIP 99929
And in the first P92 of °©>3 NN, we explained the necessity of both these n1awn.

SUMMARY
The Xin may mention an obvious case to clarify the reason for the other cases.
There are different types of ineffective non IR v,

THINKING IT OVER
1. Is there any connection between the opening comment of N201n and the
subsequent question?!?

2. Why did not mooin state explicitly the answer to his question (instead of
referring us to 7°v2)?

8 The X7m3 just asked why we need the X5°0 to teach us 77 K> V3 78, since we know it from the X2, and nvoIN
asks that even the X is seemingly superfluous.
° This is what M2 writes there: 1% AR 1M NP2 WA KD THWE PR WIAAT 9000 A"YRT IPVIRYRY TI0EOR RO
SIwYH TPYINWRY NN MR VA T D200 OWRA 9 037 XA A"URT 1PYIMWR DN AN IRY V3 W ROR 0P 1YY X0 129X
TN MR Ynwn M 0°nn yawn o7 ana vanT. The 7wy in 1w teaches us that even though he appointed the m°5w while
he was alive, nevertheless the MW is not considered, after the death of the husband, to be in place of the husband,
but it is considered a 70 K> va. The nawn (cited) here teaches us that even though the v3 was in the possession of
the woman while the husband was still alive, nevertheless it is considered a 7n°» TnRY v3, and it also teaches us
which expression (121 °211 7" 77) is considered 0 NRY.
10 See nxa1pn mow.
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